MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

CHALLENGE 1;21 o
w1 0.1 x (—40.5) = 196)  —(0.004 x 0.121 =
52 0.009 x 0.465 = v —0.01 X 6.8 =
w3 0.7 x (—23.5) = 08 =7 x 1.97 =
s 0.4 x (—4.8) = 199 —0.0002 x (=5.8) =
) 11 x (—263) = 00 0.7 X (—434) =
16) 4 x 0.0242 = o) 0.1 x (—=175) =
w57 —0.1 x (—0.25) = 502 —0.7 x 199 =
55 —0.8 x (—68) = 03 0.0002 x (—3.51) =
159 —0.8 x (—435) = 504 (0.02 x 0.0498 =
w0 —0.11 x (—41.9) = 0 0.006 x 0.291 =
o) —1 x (—4.74) = 06 5 x (—418) =
192) (0.8 x 0.0357 = 012 x 0.0204 =
193 0.04 x 2.04 = 05 —0.0002 x (—0.0063) =
01 (0.008 X (—2.37) = 09 0.03 x (—4.76) =
195 —0.09 x 0.228 = 5100 —(0.06 x 0.0249 =
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